10 X 10:10 critics, 100 architects

By Editors of Phaidon Press



10 X 10:10 critics, 100 architects By Editors of Phaidon Press

10 x 10 is a kaleidoscopic view of new architecture in the world today. 100 emerging architects have been selected by 10 leading international architecture curators and critics. Each critic has also selected and listed 10 cultural references - including designed objects, books, films, themes, and movements - to reveal a dynamic range of influences in today's design environment. The book is unique in architectural publishing and provides a truly global view of the most imaginative and important architects not only of today but also of the future. This monumental book is itself architecturally designed, with a plastic lenticular three-dimensional cover and an innovative shifting grid page design, which packs in over 1,500 striking images in 468 pages. The absorbing tome is presented alphabetically by architect in an dynamically direct A-Z format that results in arresting sequences with the turn of each page, making 10 x 10 an invigorating examination of contemporary architecture and culture. The book features over 250 buildings and projects dating from 1990 to the present. These consist of recently-built works, as well as projects currently under construction. 10 x 10 journeys around the globe from multi-million dollar schemes such as the Yokohama International Port Terminal in Japan by Foreign Office Architects; through projects such as the tiny timber summer house in Risor, Norway designed by Carl-Viggo Holmebakk; to the digital world of the Guggenheim Virtual Museum by Asymptote Architecture. From traditional to conceptual, this book mirrors the immensely diverse factors that form and fuel architectural practice and experimentation, to illustrate the most innovative responses to changing technologies and social conditions. Encompassing environmental, industrial, urban, technological, and virtual dimensions, 10 x 10 showcases an abundance of homes, workplaces, religious centres, and places of entertainment. This is a vigorous battlefield of architectural ideas: each critic has been specially commissioned to write an essay supporting their selection of architects, in some cases challenging the selections of other critics, and also giving their own view on contemporary trends in architecture. 10 x 10 is not only an essential source book, but the ultimate design object celebrating the architectural future.

10 X 10:10 critics, 100 architects

By Editors of Phaidon Press

10 X 10:10 critics, 100 architects By Editors of Phaidon Press

10 x 10 is a kaleidoscopic view of new architecture in the world today. 100 emerging architects have been selected by 10 leading international architecture curators and critics. Each critic has also selected and listed 10 cultural references - including designed objects, books, films, themes, and movements - to reveal a dynamic range of influences in today's design environment. The book is unique in architectural publishing and provides a truly global view of the most imaginative and important architects not only of today but also of the future. This monumental book is itself architecturally designed, with a plastic lenticular threedimensional cover and an innovative shifting grid page design, which packs in over 1,500 striking images in 468 pages. The absorbing tome is presented alphabetically by architect in an dynamically direct A-Z format that results in arresting sequences with the turn of each page, making 10 x 10 an invigorating examination of contemporary architecture and culture. The book features over 250 buildings and projects dating from 1990 to the present. These consist of recently-built works, as well as projects currently under construction. 10 x 10 journeys around the globe from multi-million dollar schemes such as the Yokohama International Port Terminal in Japan by Foreign Office Architects; through projects such as the tiny timber summer house in Risor, Norway designed by Carl-Viggo Holmebakk; to the digital world of the Guggenheim Virtual Museum by Asymptote Architecture. From traditional to conceptual, this book mirrors the immensely diverse factors that form and fuel architectural practice and experimentation, to illustrate the most innovative responses to changing technologies and social conditions. Encompassing environmental, industrial, urban, technological, and virtual dimensions, 10 x 10 showcases an abundance of homes, workplaces, religious centres, and places of entertainment. This is a vigorous battlefield of architectural ideas: each critic has been specially commissioned to write an essay supporting their selection of architects, in some cases challenging the selections of other critics, and also giving their own view on contemporary trends in architecture. 10 x 10 is not only an essential source book, but the ultimate design object celebrating the architectural future.

10 X 10:10 critics, 100 architects By Editors of Phaidon Press Bibliography

Sales Rank: #476516 in Books

Brand: Phaidon PressPublished on: 2000-06-13

Ingredients: Example IngredientsOriginal language: English

• Number of items: 1

• Dimensions: 12.00" h x 2.00" w x 12.00" l, 1.10 pounds

• Binding: Hardcover

• 468 pages



Read Online 10 X 10:10 critics, 100 architects ...pdf

Download and Read Free Online 10 X 10:10 critics, 100 architects By Editors of Phaidon Press

Editorial Review

Users Review

From reader reviews:

Rose Sosa:

As people who live in often the modest era should be upgrade about what going on or details even knowledge to make these individuals keep up with the era which is always change and move ahead. Some of you maybe will update themselves by looking at books. It is a good choice for yourself but the problems coming to you actually is you don't know which you should start with. This 10 X 10:10 critics, 100 architects is our recommendation to make you keep up with the world. Why, because book serves what you want and want in this era.

Christopher Henricks:

Reading can called thoughts hangout, why? Because while you are reading a book especially book entitled 10 X 10:10 critics, 100 architects the mind will drift away trough every dimension, wandering in every aspect that maybe unidentified for but surely might be your mind friends. Imaging each word written in a reserve then become one application form conclusion and explanation which maybe you never get ahead of. The 10 X 10:10 critics, 100 architects giving you yet another experience more than blown away the mind but also giving you useful facts for your better life with this era. So now let us present to you the relaxing pattern this is your body and mind will likely be pleased when you are finished reading through it, like winning an activity. Do you want to try this extraordinary paying spare time activity?

Raul Warren:

In this era globalization it is important to someone to find information. The information will make you to definitely understand the condition of the world. The condition of the world makes the information simpler to share. You can find a lot of personal references to get information example: internet, newspaper, book, and soon. You can observe that now, a lot of publisher that will print many kinds of book. The particular book that recommended to your account is 10×10 :10 critics, 100 architects this e-book consist a lot of the information in the condition of this world now. That book was represented how does the world has grown up. The vocabulary styles that writer make usage of to explain it is easy to understand. The writer made some exploration when he makes this book. That's why this book appropriate all of you.

Angelica Adams:

On this era which is the greater man or woman or who has ability to do something more are more special than other. Do you want to become among it? It is just simple method to have that. What you have to do is just spending your time very little but quite enough to experience a look at some books. One of many books

in the top collection in your reading list is definitely 10 X 10:10 critics, 100 architects. This book that is qualified as The Hungry Hills can get you closer in growing to be precious person. By looking upward and review this publication you can get many advantages.

Download and Read Online 10 X 10:10 critics, 100 architects By Editors of Phaidon Press #YAO2XWT5HN7

Read 10 X 10:10 critics, 100 architects By Editors of Phaidon Press for online ebook

10 X 10:10 critics, 100 architects By Editors of Phaidon Press Free PDF d0wnl0ad, audio books, books to read, good books to read, cheap books, good books, online books, books online, book reviews epub, read books online, books to read online, online library, greatbooks to read, PDF best books to read, top books to read 10 X 10:10 critics, 100 architects By Editors of Phaidon Press books to read online.

Online 10 X 10:10 critics, 100 architects By Editors of Phaidon Press ebook PDF download

10 X 10:10 critics, 100 architects By Editors of Phaidon Press Doc

10 X 10:10 critics, 100 architects By Editors of Phaidon Press Mobipocket

10 X 10:10 critics, 100 architects By Editors of Phaidon Press EPub